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* General Instructions:

All questions are compulsory.

The question paper consists of 31 questions divided into four sections — A, B, C and D. Section A
contains 4 questions of 1 mark each, Section B contains 6 questions of 2 marks each, Section C
contains 10 questions of 3 marks each and Section D contains 11 questions of 4 marks each.

All questions in Section-A are to be answered in one word, one sentence or as per the exact
requirement of the question.

There is no overall choice in this question paper.

Use of calculators is not permitted.

An additional 15 minutes time has been allotted to read this question paper. During this perlod students
will read the question paper only and will not write any answer on the answer book
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Question numbers 1 to 4 carry 1 mark each.
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Find the sum of 0.0333...and 0.444...
$0.0333.. X 0.444.. =1 T7 Bt | g

If x* — 20 is divided by x + 1, find the remainder.
x21—20 1 x4+ 1 F 9 I UX ATHA W FL
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3. Inthe given figure, if AB = AC, find the value of x.
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4. Write the co-ordinate of the point which lies at a distance of x unit from x-axis and y umt
from y-axis.
wﬁ—gwﬁ%ﬂnﬁ%ﬁﬁrﬁ&w% (ﬁﬁﬁ){&xﬁéaﬂ-{y-am% (enfears)
Ty = B
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Questmn numbers 5 to 10 carry 2 marks each.
mms%mﬁmmzwmﬁi

5. 1f125* ==, findx.
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6. Findanirraﬁonal number between >andZ. Itis given that = 0.142857142857 ...
-3?!'{ % = '=ﬁ'l'€ Ifeg e e ok s 3 & -—0142857142857
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7. IfapointC lies between two points A and B such that AB = BC,
then prove that AC = -AB
A@TBﬁTﬁﬁﬁf%ﬂa@ﬁ%meﬁﬁrﬁiw B(‘.ﬁrﬁlﬁﬁm%
AC= —AB.

8. In the given figure, AC = XD, Cis the mid point of AB and Dis the mid point of XY. Using
a Euclid’s Axiom, show that AB = XY.
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10. The sides of a triangle are in the ratio 5:12:13 and its perimeter is 150 cm. Find the area
of the triangle. : .
e e @ o 5.12:13 % sFE@H Bl g aRffT 150 am B, @ By &
Samd W@ Hieg |
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Question numbers 11 to 20 carry 3 marks each.
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11. Factorize: (ax + by)? + (ay — bx)%.
res P (ax+ by)? + (ay — bx)?

A2.In the given figure, £ABC = 80°, 2EFG = 45° and £EGF = 35°, Prove that AB |l DE.

& w el # £ABC=80° JEFG = 45° it LEGF=35°@ & W= X &
AB || DE. .
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A3 Prove that two distinct lines cannot have more than one point in common,
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14, Expand wsing suitable identity: (~2x + 5y — 372, |
S9gR wdatEr F oy @ fremfa w3 (=2x + 5y — 37)2,

13. In the given figure, it is given that AB = CF, EF = BD and ZAFE = CBD,
~ Prove that AAFE = AcBD. '
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# T SR ¥ Rar wr & B AB = CF,EF = Bp 1T LAFE = £CBD. fra =% fr
AAFE = ACBD | - |
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16. In the given figure, if PQ | PS, PQ Il SR, £SQR = 28° ang ZQRT = 65°. Then find the
values of x and y. :
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17. Find the remainder when f(x) = 4x® — 12x* + 14x — 3 is divided by g(x) = (2x — 1),
f() = 4x° — 12x% + 14x— 3 wd g(x) = (2x — D& & fx): gx) ¥ 5 37 ux
OIS ST #ng |

18. Prove that each angle of an equilateral triangle is 60°.
fra #X & v Brysr & wdw B0 @ 9 60° Sar 2
. 4
19. S is any point on Side QR of a APQR. Show that PQ + QR + RP > 2PS. :
B PQR # s QR wx ‘S’ W Reg 8 Ramw B PQ + QR + RP > 2PS.

20. Find the value of x* — 8y® — 36xy — 216, when x = 2y + 6.
afd x=2y+6 2, & x* —8y? — 36xy — 216 #1 AT W Ffrg |

Section-D.
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Question numbers 21 to 31 carry 4 marks each.
UIT HEIT 21 ¥ 31 G YAF WOT 4 3% FT

21. Locate V10 on the number line.
e e 9T V10 1 Prefa #@ R

22. By actual division, find the quotient and remainder when 3x* — 4x% — 3x — 1 is divided
by (x + 1).
3 —4x* —3x—1 W (x+1) ¥ W ¥ wF www A TR WA FE |

_237In the given figure, 1, || 1, and-a, |l a,.Find the value of x.
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Ifx = 1 + /2, find the value of (x — ;(1—)3.
oz x=14+VZ & @ (x—-i)3 F A A AR

Find the value of a and b:
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Factorise: 2x3 — 3x% — 17x + 30.
oEs w5 2x2 - 3x%% — 17x+ 30

If the polynomial ax® + 4x? + 3x — 4 and x® — 4x + a leave the 'same remainder when
divided by x — 3, find the value of a.

R Sgae ax® +4x2+3x—4 M x3—4x+a T x—3 F Wwor 23 93 TEF BT ST
ST B A1 a B A W FE

The side QR of APQR is produced to point S. If the bisector of ZPQR and 2PRS meet at
point T, then prove that £QTR = 1-4QPR.
fi‘gﬁ?QRﬂ%gﬁTQRﬁﬁ‘gSaﬁmw%ltri%LPQRaﬂ'(cPRSﬂW
wﬁﬂmTwﬁw%ﬁrﬁﬁ;Eﬂﬁr‘q%AQTR —AQPR

Prove that the sum of the angles of a triangle is 180°,
g R & B & @ S @1 dee 180° Bt 2

Sarita made a rectangular chart for the school notice board mentioning the ways by
which cleanliness can be maintained in one’s surrounding. Write the co- -ordinates of the
vertices of this rectangle if its length and breadth are 12 and 8 units respectively, one
vertex at the origin, the longer side lies on the x-axis and one of the vertices lies i in the
fourth quadrant. Also find the area of the chart paper used.

Which values does Sarita possess ?
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/3{The lengths of two adjacent sides of a parallelogram are 17cm and 12cm. One of its

diagonals is 25cm long. Find the area of the parallelogram. Also find the length of
altitude from vertex on the side of length 12cm.
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